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Hi) 7x-x5-36 FS 
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(vx 108in2.123 -67 

(viDx3 
(vii) 9 x i)5 

T 3/5 m fTI t 

cin x3$-4--24 

(vii) 9 x--31 

co3xo-F- 
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(5) 5 fa 5/6 (v i) 2. T G? 

(T) ts AIE 2/n (T 4) 

() 1 fria I 3/S ( T) 

:924x =20 
) 

(i) 60 x=40 foe 

Gii) 1 Tas = 7fMxá =2f 

iv) 1 feu = 1000 1 3/5 = 600 AITH 

(V) 1 ad= 365 fa s1 3/5 = 219fa 1 

5. 

:ATT 3T 1 yfATY = 2.(7o o) 

2(5 sta 4 
(147+32 

28 -
=2x 12ta 

3 it. 

HwATAei- 2.3 
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7x1 7xj -9* +2 
(i)5 

(vi) 3+7 
(iw) 2 3 

(4+4 

(vi) 547 (viip 31 
5. 

f ? 
: =35,x 3fea 

35 x7x 19. 
= 133 fsteTI 

WwTeot 2.4 
1. 

) 15 i) 12 
m44-x- 

(i) 9 

v)8 (3+2 (vi) 7+3 

: 15-15 n-20 

A. 

G9.-9-4-3 

3-2-3j-ix^--1 

2. ffa fet * w 

Giv) 

(vi) 

( (vi) (vii) 13 (on3--3*j-s 
afaa fa (ii), civ), (v) 
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5. 

w fr art 154 

8. 3 r d T 130 irar t, 1 

fasritra T gT ? 

= 130 7 

:E HE = 308+1 = 130 x 1 

308 
40 ., (V 

308x = 28 x 6= 168 V 

3727-3 
i 

3TEyzh 52 

fet, da, zt, ta 
1, a, focaater 

10te= 1 3aHtea .v 
10 feiter=1Hta 
10 -a=13iza 
10 &tat=1 ha 

10 Ht 1ia 

10 aT=l bHTE Oi 

100 1.25 eT ps 

3. 1025 m fnaur 

1025 1000 1.025 feATH 

3. () 0.44+0.11 
(ii) 1.33+ 1.2 
(v) 1.02 + 1.05 

:(i) O.44+0.11= 0.55 (ii) 2.12 + 2.1 = 4.22 
(ii) 1.33 1.2 2.53 iv) 1.12-0.12= 1 
(v) 1.02+ 1.05 2.07 (vi) 4.12- I.13 2.99 

4 
() 0.2 x 0.2 

(v) 1.23 x 1.2 (v) 5 * 2.5 (vi) 4 x 1.3 

1. fr T sf: 

() 1.234 a 2.345 (i) 1.234 1.123 

(ii) 1.134 a 1.132 (i) 2.12 + 2.1= 
(iv) 1.12-0.12 
(vi) 4.12-1.13= :(i) 2.345> 1.234 (ii) 1.234 > 1.123 

(ii) 1.134>1.132 

2. fa aed: . 

1. 10 t ai zad 

10 
37100 0 = 0.1 o 

2. 125 AHU i Ter 

(i) 0.2 x 1.2 (i) 1.3x 1.3 
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M: (i) 02 x 02 = 0.04 i)02x 1.2=0.24 

e) 1.02-0.02= 1.00 

1.20, 2.01, 
0.123, 

0.21, 
1.02, 

2 

(i) 1.3 x 1.3 = 1.69 
(v) 5 x 2.5 12.5 

(iv) 1.23 x 1.2 1.476 

(vi) 4 x 1.3 = 5.2 
:8 

0.123, 
0.21, 1.02, 1.20, 2.01 

1. 230x 10=. 1.203 x 100 

1.203 x 1000 
:1.230 x 10 = 12.3 

1.203 x 1000= 1203 1.203x10,000 = 12030b ()315 

1.203 x 10,000= 
1.203x 100 120.3 

(a) 212 v 10 t (b) 5 vd 5 

t ) 315 t 

:(a) 
212.10 Td (b) 5.05 v 

(c)3.15 

6 

6 TT 

2.410=? 2.4+ 100=? 
6 ()10 

rt ze gd f er 7 ferd 

2.4+ 1000 ? 
410=0.24 

2.4 1000 .0024 

2.4 100=0.024 
1 

()10 
dh = T00 i0 10 x 1000 

10000 7 io 

ufa.1 e sir.0001 fatr i 

(a)115 =1.15 to .00115 ft 

I4M TeT 2345 3.24 HT 

afe aT r 2 ATFiT 

7:53 6.15+3=? 15.8+2? 

:753 2.3 0.15+3= .05 15.8+2=7.9 

40.23 10?
40.23 1000 ? 

:40. 23+ 104.023 

40.23+100= ? 
1. 

40.23+ 100=04023 

40. 23+1000=0.04023 
FTai 3.1 

:2.345-2x1+0100 1000 
2+:3+ .04+.005 

FHIFY 1 2 

3.24 3x1410t003+.2+04 

(a)S67 5.7b) 5.60 q 5.61 
c)5.67 a4.67 

:(a) 5.67 < 5.7 (b) 5.61> 5.60 
(c)5.67> 467 
7a: s 5.7, 5.61 ar 5.67 

2. : 
(a) 1.22 2.11(b) 1.23 0.12 

() 2:13 Ho.87 
(1.02 H2.099 (02.37+3:76 

7:(a) 1.22+ 2.11 =3.33 
(b) 1.23 + 0.12= 1.355 
(c) 2.13+0.87 3.00 
() 1.2 +1:002 = 2.202 
(e) 1.02 +2.099 3.119 
()2. 37+3.76 6.13 

3. es 
(a) 234 1.23 (b)1.01 0.1 

c)1.02 0.02 
:()2.34 1.23 = 1.11 (6) 1.01-0.1= 0.91 

d) 1.2 1.002 

tet ? 

0.25 km. 0.5 km 
fererer 

0.5 km. 

0.3 km. fa 1 

GT R ER TarIEY Ad HII (0.5 +0.25) 



f À fau e (0.3+ 
0.5) fst=0.80 f gt t tri.a 2x1.5 cm* 

= 1.5.cm2 

70.5T wrer gr à3.5 ter au 
= 0.80-0.75= 0.05 f 

T 3 f T 500 ATR 
1 f aT 2 f 
50 T , 2 f T250 

5751 = 70.5x 3.5 Fo 
= 246.75 Fo 

fT ? 

T Tiu T T = 3.500 fm + 1 f6 

4.500 ftm 
94T ETTT T TATA = 2.050 f * 

2.250 f6=4.300 fm 
Tet g = 55 .75 x 2.750 

= 153 .3125 fi. 

HTaTi 3,3 

À (4.500 -4.300) = 0.200 fm= 200 T (i) 0.25 0.5 

(iv) 1.75 3.5 À (i) 4.25 2 à 
(ii) 17.5 3.5 

(v) 0.175 3.5 (vi) 0.75 ai 35 d 

(vii) 2.75 0.5 (vii) 0.175 10.35 

(ix) 400.23 10 (x)400.23 100 

(xi) 40.23 1000 (zii) 35 =1 0.2 
3M:) 4.25+2-2.125 

(i) 0.25+0.5 =0.5 

10. 15 er, 6.5 x AT 3frs t ? 

(15-6.5) zta=8.5si fu 
XT 3.2 

() 5.4x04 
Ht) 8.24 x0 
(v) 3x .3 
(vi) 0.0003 x 10 
(ix) 0.0003 x 1000 
(xi) 0.0003x 100000 
(xiii) 0.400 x 0.500 
(*v) (-2.5) x (-2.5) 

:() S4 x.0.4 =2.16 i) 4.32 x0.7 3.024 
Ci) 8.24x0=0 
iv) 15.2x0.002 = 0.0304 

() 4.32 x 0.02 
iv) 15.2x 0.002 

(vi) 0.7 x 0.7 

(viit) 0.0003 x 100 

(x) 0.0003 * 10000 
(xil) 0.0003 * 0.0003. 

(xiv)-2.5 x 5 

Gii) 17.53.5 17.5 x 3 5 

iv) 1.75+3.5= ==0.5 

(0.175+3.3500 3500100 
- 0.05 0.175 175 5 

(v) 
iV 

3 x0.3 = 0.9 (vi) 0.7 x0.7 0.49 (vi) 0.175 35 s n 
(vii) 0.0003x 10=0.003 
(viii) o.0003 x 100=0.03 
(ix) 0.003 x 1000 =0.3 

(x) 0.0003x 10000= 3 

(xi) 0.0003 x 100000= 30 
. 

(xii) O.0003 x 0.0003 = 0.00000009 

(xiii) 0.400 x 0.500= 0.20 

(xiv)-2.5 x5=-12.5 
(xv) (-2.5)x (-2.5)=6.25 

2. 

17535000 1000 0.005 

(vi) 2.750.5 =5050=1 5.5 

0.175 175 
(viii) O.175+0.350.350 350100.5 

400.23 (ix) 400.2310 40.023 

400.25= 4.0023 (x) 400.23+ +10000 4.0023 

BT= (T9M)2 
= (2.3)2 = 5.29 ai iea 

(xi) 40.23+1000=oc 0.04023 
1000 

Cxii) 35+02- 35.0 =175 
.2 

2. t 
() 40.5 +2.2 TAT : 2 ut ge 1,5ttIA 

(ii) 40.5 + 1000 
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(vi) O + 0.5 
(vii) 0.2 0.2 

( 0.25 
3r 1.25 . T 

: (i) 40.5 2.2=" = -18.409090... 
= 6.50 650 5.2 te (ii) 40.5 1000 = 0.0405 1.25 125 

(ii) 2.50.5 = -5 
(iv) 8 0.25 S 8003 
()1 0.25 =00 100 4 25 4 

3:T = 0.90 avg= = 30 
3HTTit FTT 10.5 te fHaT a 

Y =0.03 0.25 
6 (vi) o0.5 = = 0 

(vii) 0.2 0.2 5 = 1 
105 3. 3. 6 TT Ran 32,50 er t :FAR 

E a 
A 

15 
TT 
t 

3.5 
au 

35 
1.47 

=3. 

fituTa a 

3. 

7. TR 15 t a 1.47 ra t T UT T 3.25 iter 
1.47 1 l {=15.00 

147 
15000.098 kg. 
98 gm. 

: ts = = =10 

3TEA7-4 
A 

1. 

2. 

3. 
4. 

5. 

6. 

7. 
8. 
9. 
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25 72 910 4 0 ( (1 = 10)] 

i Fem = 37 
40 

sTeT =5 ta 17 fTe (m) 2. 3TT 3ittaa 1 fa fa t7 301 

3. 5 r 11 mT fT ET ? 
20 

104 

2006 2010 sst atr f ga 
B C D 

2006 |2006 2007 | 2008 2009 2010 

3t2550 300 350 520 620 
400 425 500 550 600 

(a) (A) 

10 
40 (B) 

(C) 

25 40 408:, (D) 25T 3 3rftan T ? 

(b) 2010 
(c) 2006 ar 2008 : ieA =85, T7 H = 40. 

7. TR 100 a7 am ukuTat 
frat if iT fs 1, 2, 3, 4, 
str 6 fat-fsit ar amq ? 0| 

1 15 
S00 2 29R 
4001 3 30 R 
3004 410 R 

200 5 - 9 R 

/100 6 1 ER 
100 2006 2007 2008 2009 2010 

100 = 
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8. f rd 250 

f 

38 
250 

() 9 

(ii) 
(ii) ofer 9-1 = 8 

60 

50 iv) e 2= =5.1 

40 

20 
45, 40, 35, 50, 0, 100 

10 
3 45 40 +35+ 50+0+100 45 

6 6 

5. f TTuft rs f t aT R t 

faenst Tai- 4.1 
IV 

10 10 14 

15 kg, 12 kg, kg, 13 kg, 16 kg, 20 

kg 18 kg, 17 kg, 21 kg 10 kg& 

uRer t? 

L0 
13 

8 

2F95 12 
2. uH 7 ui reATBi A Ta 

:4T = Zt3+4+5 + 6+7 

4 
3. T T f 

4,6,7,5,3, 5, 4,5, 2,6, 2, 5, 1,9,6,5,8,4,6,7 16+ 10+ 10+14 -= 12.5 :(5) HTEZ 
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(7) aaTR, TUr, qsefrar, Tar, 
ar l. 

T 6, 8, 5, x, 4,7 ar 8 T T 7 r h 

(T) T=9+8+4+0 4 = 4.5 

6+8+5+4+7+8 _38 
6. 

7= Z+38 
7 1670, 1750, 2540, 2820 

49x+ 38. x = 49 38 11 

10. af 10 teeit a 20 s FreT 
2 rer TTT PT TT ? 

: i 61 iT = 20 x 10 200 1670+ 1750+ 2540+ 2820 
4 

8780 2195 10x 2 = 20 

37 200-20 180 

180 
7. 

T41 = = 18 (100 R) NTT f T ats 49, 50, 85, 90, 
66, 48, 92, 84 ar 75 a g: 

veT 3T feeri 6 zARA 21 

:() F 4 3i = 48 
F 36 = 92 

(T) i 7 ufar =92-48=44 

ie3 =16x5 =80 
:E 21x6= 126 

s reI = 126-80 46 
WICT 4.2 

(T)T= 

49+50+ 85+ 90+ 66 + 48+92+84+ 75 T . 
6,15, 120, 50, 100, 80, 10, 15, 8, 10, 15 9 

639 = 71 

5ATa -5+120+50+100+80+10+15+8+10+15 
11 

29 
11399. fa 

a (fafa4|12.2 0.020.5 2.1 5.5 1.0 00 
6,8, 10, 10, 15, 15, 15;50, 80, 100, 120 

n 11 

(T) HTOZ R7 aui - f g ? 

&:(7) qd ar = 20.5 

I6 = 15 

12.2 +0.0+20.5+2.1 +5.5s1.0+0.0 T=15 
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2. TUTT TgT 15 furfirat urT (25 
9 -3. 

19, 25, 23, 20, 9, 50, 15, 10, 5, 16, 25, 

20, 24, 12, 20 

ATa? 
= 20 

5, 9, 10, 12, 15 ,16, 19, 20, 20, 20, 23, 24, 

25, 25, 50 
n: 15 

8 BTI 

() 3Tn , 4, 5 T 4T 4 

7:(5)4 (a) H (T) 7 (7) ¥7 

(3.) H (T) F7 (3) IHR (T) HII 

20 

38, 42, 35, 37, 45, 50, 32, 43, 43, 40, 36, 

38, 43, 38, 47 

4.3 

&:T5_i 38 3r 43 R 3TT I1 
.g=38, 43 

32, 35, 36, 37, 38, 38; 38, 40, 42, 43, 43, 

43, 45, 47, 50 Hgfeo&2 
n= 15 

40 
40 

E eaia 10 tar fnffua 
35 

30 2, 3,4, 5, 0, 1, 3, 3, 4, 3 

2+3+4+5+ 0+1+3+3+4+3 
10 

F20 
15 

-2.8 10 
g0 = 3 

n= 10 
Y S P R M. N 

a 

(b) 25 (c)M &M:(a) R 
2. faetar aut frCT 2006 

0, 1, 2, 3, 3, 3, 3, 4, 4, 5 
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2006 2007 2008 2009 2010 
frrnfya 

160 160 280 200 406 320 :1 = 100 

Y 

100 

90 afrea t atr fa ¥qan? 
Ci)a 2006 

2010 funfgaf a rET À 80 

70 

:(5) 1 g4T = 40 fari 
Y 

60 
50 

400 
360 

320 

40 

30 

201 TF 280 

101 
200 X T 
160 
120 
80 4. faat fi a f 

fasat (kg H TTUiT ATT 3TT X 2008 2009 2010 2006 2007 

160 
404TS 

280 
40 7 3 
200 2008 40 3 FOT 

2006 

Eitaar 35 29 12 2018 38 TTOaTT 26 34 8 25 16 35 

2007 

400 
40 10 45T 

320 
40 8 F5 

2009 f freaer? 
2010 

() () 2009, 2006 
i) 12 

:1 = 10 kg.. 
Y 

. 

401 
30 

20 
10 

fav ttfuraT, faara|faara 

WETH TT60| 70 80 84 76 
Eeitu 80 65 9585 80 >X 
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(5) 
24°C 

36C 

27°C 

29°C 
27°C 

11°C 

42C 

36°C 

31C 

2008 (T 2009 ( 23C 

25 30 

AT 
farfereT 30 35 

50 70 

40 
(T) t 

feg f 

20 

35 35 

? 50 

:10 R = 1 5 
Y 

80 
70 

10 

60 

s0 () T (a) TI, STT 

40 
30 

() , 

20 
() 

10 
YeTi 44 

fafnc 

(a) fg (T) 75 EK YAT () it 
(9) 2009 

6 

() 7 »ITT 

41°C 
43C 

25°C 
26°C :(5) ftRa 

37C 23°C 
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() a 
iv) S TeT TI 

:( L 
iv) 

3 Tt 3r fr ¥ TTrit, F8s 

:P(E mA) 
G) PnT 5 T HA 

3TEAT7-5

3HT 2541 

3. 

5. 

6. 

7. FTa 

1, 5; 22, L6am L4, 28 23 ait L7 Ka ani ga? 
n 

-I 

m 

8. 
/3 3i /5 a /4 37 6 friz 



Maunmauo 

t:= 21, 22, 27 3t 28 
S4:6t7= 23, 24, 25 st 26 

60° a 

A A A 
) (1) 

(a), () H 

(-(T)- STH 
:(T) 

35+50°=85°, 25°+559= 80°, 65°+25°-90° 

eoreepeeoeee9 

(a) 55° a G=, eeeseeoeeo 
(A) 15 U KE=. 
(T) 78° 

E:(7) 90°-4 50 (a) 90°-55°=35° 
45 70 

(T) 90°-15°75° () 90°-78= 12 E:) itk (i) 

(5) 
(T) f6t (75 

Cii) 80°=. 
EM: () 180°-75°= 105° (ii) 180°125°= 55° 

(ii) 180°-80° 100 (iv) 180°90° =90° 

(ii) 125° 
(iv) 90 E 

90 0 
HTTATN 90°-6-0 = 30° N. LEM 90°-20 30° 

90°-30° = 20 

20 600=30° 
30° ir gRT 90° -30 

G) 
EM:(i) 

(ii) (ii) Civ) 
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fZAOR wm ZBOC 
17. I m anit f ffrdas rar a 

10. () mZAOR 

LBOC 
18. , m enit fr rer p 

, ? 

19. 3 aere TaTT af fr 
(7) ZAOB ZBOC Tra R 

ZBOC r frd 
:() ZAOB + LBOC # 180° 

()(i) 
(T ZBOC= 180°-75° 105° 

11. f 

20. Fom fe a 

A TET? 

(i)wa ter. 
() Oti 

i) AC r BD 
12. tfas ga 

(T) TtT p,1, m 3sr nf fadas tuT 
( 

) T 
:(i)
13. tTIaT m3-Te 

21. fa 

fr 6E fa fa 
et ? m i) 22 sr 16 

(i) 24 ar L8 
(iv) 23 3tr L7 

22. fe fars Tun 
()P 

(T) 3f m 
ZA TT ZE 3 ZD 

747 ZH 
:() sr (T) 1 

15. fe AB 3r CD ya5 23. fa 

l10270 

LBOC=70° TT ZBOD = 

110 a LAOC g 

LAOD t 4TT ard 

>ID 

:(i) LEGB 3ir 2CHF 
T47 ZAGE sr ZDHF :LAOC=110°, 2AOD=70° 
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i) BGH sar zCHGa LAGH stN LGHD 
24. fa ia 70 

E 
m 

G 
i) 4y=70° 

LDGE ar ZBHG 

LEGC s LGHA KT 

LDGH st 2LBHF T 

110 y LHGCr LAHF RA oi qa f1 LHGC 
si 2GHB aT ZDGH att ZGHD sitr ZEGC 
a ZBHF q DGE m ZAHF YEt atu 

Cii) Lr=180°-110°=70° 

E 

60 
i) LBGH= 60 

LDHF=60° 

LGHC=560° 

7 I T t, T T i) LBGH= 60 

(V) a 180°-60°=120° 

b 120 
c 120° 
d 60° 

** 

21 3r 2 7: AA IE HTTaR O 

26. ) aIK u 

fr 
B 

(vi) 2B=55° 

2C 55 
D 55° 

C 

L3, 24, 25, 26 
(ii) : T E 

28. t f fant aar rati aT m Aar L1, 22,21, 48 

AP 
" 

7A 90 
(i) =55° 

60 
m 

7 A60° 

B 

(ii) 
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45 

3: o r45° st 

Pi10 
S0 

m 
Or?rror 

m 

(iv) LAOB 

TOt (Gii) si, sa: f 180°t 

(iv), 120°+ 60° = 180 

A60° 

ZAOB = 60° 
ZBOC AT T 

wTert5.1 

ZBOC = 180°- 60° 120 

7. fe Tg fa 2AOC = 120° 

t LBOC, ZBOD TT 
LAOD 1 fi 

M: ZBOC=180° 120° 60° 

ZBOD 120° 
LAOD= LBOC= 60° 

B 

A A 
120 

D 
ANCT 5,2 

35° 1.t aot 

i) 35 
:()90°-35°= 55° 

(i) 54 (ii) 45 iv) 78° 
>m 

L4 a 28 7T L3 

i) 90°-54= 36 

(ii) 90°-45° 45 
(iv) 90°-78°= 12° :23 3tt L5, 24 att 26 

3. 

EH L2i L8 aT Z1 i4 

D3s 

(ii) 
:24 r L5 am L3 ir L6. 
5. ||m Tr° AY ANEI (i) 

H:) 180-110°= 70 
(i) 18075°= 105° 

(i) 180- 135° 45 
N10° 

AS0° 

=90°- 
2=90 

() i) 
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Plln 3r i|| 
mi 

f AB || CE 
TT 

CE 

8. 
A< 45B 

DF T 

LB = 45° 

fy 
T 

AB I DF 

AB || CE 
ZB= 45° 

(ii) 
) 110° (ii) 50° 

6. fa T faa 1 | m 
T P m T z TT 

LBCE= 45° e ViTT 5 

CE || DF 
LBCE=LCDF 45° = LCDF = LD 

AB | CE R CE | DF 

AB DF 

(iii) x = 180° 55 = 125° 

65 
:65°+z= 1800° 

Lz= 180°-65° fa tr m a tT n res 
9. n 

= 115° 

m 

115°+2y = 180° 
y= 180° - 115° = 65° 
Zn = Zy = 65° 

T? 

(T) 24+25=180°7 T || m aT ? 

:() ATN Y- 24 

i= z=65° 
m. (a)L5+ 26 = L4+ 

5 180 
|| m BTI 7. 

m 

z+ y=180° 
y=65° 

Zz= 180°- 65°= 115° 

37E217-6 

fr 3ATR 3H TUT 

1. faga ii ad 1 a = 180° 

m LA+m ZB=m <ACD 

C D 
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5 

a2 b2 c2 

f AB AC 

3 ZABC = 65° 

40 

2B=65°. 

B65 

LA=180°-2x65° 

= 180°-130°-50° 

0 

Á55 
35 fr Ttt ? 

( T% ufrst Tua: frg 
) (ii) 

ii) 

:G) x = 80° x=110° 

2. FuUT frg tU 42° 

I= 145° 

Tu = 90°-42°= 48° 

3. far fga 
TT 60° TT 

12 

72 aa uT 60° 

= 180°-(72° + 60°) 
180°-132° = 48° 

:30 + 40 + 50= 180° 

. 120= 180 10. fy vit Fa fg 

180 
012 
= 15 

? 

ai sj 4T: 3x 15°, 4x 15°, 5x 15°= 

45°, 60°, 75° 
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: (i) x= 180° 
- (80° + 

40°)a 
180°-

120° = 60 

(ii) x = 
180°- (15° + 35°) 

= (180° 

(iii) r = 
180°- (50° + 40°) = 

180°90° 
= 90 

2. ga HHGIOT fy Y6 T 35° 

Mathematics-VII 

50) = 130 

(i) lem, 3cm, 6cm 
(iii) 3cm, Scm, 8cm 

: 
5 = 90°-35°

=55° 

(ii) 4cm, 8cm, 9cm 
(iv) 3cm, 4cm, Scm 

art ? 

(ii) fewg faga mTI 
7: 7 ti sod z T7 = 60 x3 = 180° 

(iv) 7s fya Tm 

7:(i) 4y+Ly+ 140° 
180 

24y 
= 180°-140° 

40° 

40 

AL >B D SE 20 
(i) 

M HT 4T ? a 

ii) 
Flf 2y+y+y= 180 
4y=180° 

y=45 
2y=45 x2 90° A 

HT T () &b+c2 

AABC 5.3 2.9 4.5 20.2518.41 28.09 
cm. cm. cm (5.32 

=(2.9)2 

452 ADEF 5.7 4.1 4.0 32.4916.81 16 .49 
F16.49+16 
49 
26.01+23.04 

2y 

cm. Jcm. cm. 
AMON75.1 14.8 49 26.01 23.04 

cm.cm.cm. 
BO WATa 6.1 

ZA = .... 

2C=. 
: 2y+y=90° 80 40° 

3y=90 
35 A0P y =30 

7 1 30° sir gu T 60° 

A500 
) Cii) 

(ii) 
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Mhematice VT 

1. 

ZC= -
AD A t Pi AD L BC. 

LA + ZB ZC: 
180 
2x+3x+ 4t= 180

9x 180 
180 . 20 

A= 2x 2x 20 40° ZB = 3x=3x 20= 60 LC= 4x=4« 20= S0 
LA 

()r A iruT 

() A aet T 

AB AC 
ZB=55 

S5 
LA = 180°-(55°+ 55*)= 180- 110° = 70 

&i00 
Ac 

X= A+ B= 40° + 100= 140° 
10. 

D 

() T 
8S 130 

14. r 
LA=--

A = LACD-ZB 
130-85=45° 

11. fu TN ft 

WUet 6.2 

6:() tEI 4-fryg 

t? 
(i) (3,4, 5) 
(iv) (1,3, 5) 

:(i) 3r (ii) 
2. fu o fg fr ABC ar fta t 

(i) (2,3,4) (ii) (1,2,3) 
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Mathematics-VII 

(6) AO + OB < AB 
(ii) AO + OC> AC 
(ii) BO +OC = BC 

(iii) 374R 
(iii) 

( (ii) PO+ QR+ RS+ SP > PR SQ 
PQ+ QR > PR 

(i) 
(V 

75 RQ+ SP> SQ 
Hf PQRS FT 9 

90 

40 1 72 90°/21 
SR+SP> S0. 

.. PO + QR + RS+

SP> PR+ SQ (vi) 
(V) 

15 (V (iv) 
14 ttI na et gT 

7. 
:4 T AIKI ae 24 t 41 

5. ABC f t farrn 2A FHUr ti ufe 

AB = 10 cm, AC = 24 cm. Ta ui BC A 

10/ (ii) 
=V(10)2+ (14)2 

=V100 196 =296 
= 17.20 cm. (T) 

16F 
15 

12 
X= 8 y= 17 

x= 20 

37E2T7-7 

HarTHHdT 

3. 

() f T-gT-T (S-S-S) xfaru a 

(7) f -1- (A-S-A) wfT 



Mathematics-VII LABC 

LBCA 

LBAC 

AB 

wATAt 7.1 
(i)aABC=AABD BC 

AC 

LABD 
ZBDA + AB 

BD 
AD 

(ii)aABD=ACDB 

LDAB 

D 
:(i) XYA AB 

YZ BC 

XZ AC 

(ii) AB AB 

BCAD 
AC BD 

(ii) AB CD 

BD BDD 

LX LA 

LY ZB 
LZ LC 

LABC LBAD 

LBCA LADB 
LBAC LABD 

LABD LBDC 

ZBDA ZCBD 
LDAB LBCD 

:) AB KL, CD va IU EF GH. 

2. f fa Fatren u 
ADBC 

A Dr 

BA 
8 , dT ATTa zatran A 

NQ 
G 

P R 7. fa Fatrea tt, uf ai a 

:) 2ABC UKL, 
ZDEF T LGHI, ZGHI am ZDEF, 

LMNO LPOR 
2H 

LABC aT ZDEF Fate af ZABC 3. 
a 4T 70 ga ZDEF AT T ? 

E:70° wHTaoit 7.2 

i)AXYZ= AABC

XY LX (5) frtPQ= XY, QR YZ, PR = XZ 

YZ LY+ APQR# A XYZ 
XZ> LZ 

X 
R 
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(ii) AABCs AADB 

i) AABCe AABD 

Ciii) A 
ABC 

= 
A 

BAD 

:(ii) 

(a) 
AB LM. 
AC NL, 
LBAC= LMLN 
A ABC = A LMN. A ABD A BDC (arT 

ga 
4 

B 
(T) MN= PQ 

LMON=LPOQ 
LONM=2OPQ 

&: AABD at ABDC 

BD=BD 

AB CD 
AD= BC 

A ABDA BDC (S-S-S) 
sfase * 

5, f m fas AABC LA= 40°, 4LC = 

35 AT T AB = 2.5 tauT A DEF ¥ 

LF 35°, ZE = 105° a DE = 2.5 F 

a aI f AABCe A DEF 

() LABD=2ADC = 90° 

AD AD 
AB= AC 

AABD=AACD 
9090 

D 
() S-Á-S 

() RHS 

2 à i A ABC A DEF 3TYE 

:() S-S-S 

(T) A-S-A 

2.5 105 35 F 
A 359C E 

MZB=180°-(40°+ 35° 
180759= 105 
LB=ZE, 4C=ZF 

a AB= DE 

AABCADEF 
6. () a ATYT HIT ray 0 AC# FD 

ZBAC-ZFDE fa 
(ii)| LACB= ZEFD 

100 

3. fay T f y TaTT AB T AT fH 
ABC ADB AB = BD, BC = AD 

30 50 c 
AB 3.7 cm 

BC 3,9 cm. 
AC 2.1 cm. 

PO3.7 cm. 
QR = 3.9 cm. 
PR 2.1 cm. 
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